110mH =X

B<:106.7cm

148 (+4.1)

L—> Foin— K 4 Fir B EEEN JIE 42
1 3-554 R BE EEK-2- 5 14064 4
2 3-547 B EX EXXK-4-FH 14%065 6
3 3-550 BRAR BAE ERX-4-LE 14¥014 2
4 3-541 H/HE V2 K ERX-3- 58k 13058 1
5 3-558 At+E 1L EXK-3-125 14%029 3
6 3-562 FH =¥ ERX-2- 5 DNS
7 3-552 EF Inf BERX-2- K% 145081 7
8 3-5339 HL X BRX-1-BER 145064 5
218 (+3.1)

L—> Foin— K 4 Fir B EEEN JIE 42
1 3-555 AR @13 ERX-2-#K 14067 2
2 3-5338 FE B EHK-1- 5 155041 8
3 3-553 Al EE EEK-2- 5 14072 3
4 3-543 KN =4t ERX-2-5F 158210 6
5 3-548 AL BE ERK-3- % 145038 1
6 3-545 Al K& ERK-2-FE 15%b24 7
7 3-556 A B3 ERX-3-#ikA 155001 5
8 3-551 AR it EHK-4-5E 14084 4
348 (+2.0)

L—>  Foin— K 4 Fir B EEEN JIE 42
1
2 3-5337 ey R ERX-1-RH 158079 6
3 3-561 B Eft ERX-2-#HK 145099 2
4 3-5342 ZE Rt ERX-1- 948 155047 3
5 3-549 K K ERX-3-BEAR 14078 1
6 3-5340 AR X ERX-1-54%0 155058 4
7 3-546 =1 2PN ERX-3-#iA 155071 5
8




